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BIEO—X [£HOH36-WESTO—RX .~ 5,719Yards Par72
1B EHHI5E |524
JIIE 432 K4 FEHIZI—X ouT IN GROSS
1 EH UOAH Y=bA=Fe—F 38 39 77
2T R =8 £ HOH36 43 38 81
2T +H EF £HOH36 41 40 81
2T 25 E=F LHOH36 43 38 81
2T EXHE LHPH36 42 39 81
6T Bt BE S 43 39 82
6T RA FlF = 42 40 82
8T =18 Bt F £HOH36 43 40 83
8T R=E ,n% = 41 42 83
8T BEE BF £HOH36 43 40 83
8T BR EF £HOH36 39 44 83
8T B EF Y- TR 40 43 83
8T A Y- 40 43 83
14T & FEEF LHOH36 42 42 84
14T RA BEH L£HPH36 42 42 84
14T K EF EENOY S 44 40 84
14T o EX L£HOH36 41 43 84
14T iF BT el 43 41 84
19T D ¥En E1GC 43 42 85
19T i Eﬁ% el 44 41 85
21T ¥ BF RBFID Fx 42 44 86
21T I ZYF e 46 40 86
21T e #mK RBF1 D 7% 45 41 86
21T BHE 5 44 42 86
21T IMR *%,I RBFID Fx 42 44 86
21T TN §E¥ RBF1 D 7% 43 43 86
21T [RE % E.,m RBFID Fx 41 45 86
28T maft A RBFID Fx 43 44 87
28T {HH ﬁu% el 43 44 87
28T ESS RBF1 D 7% 42 45 87
31T EH %M ErtREER 44 44 88
31T B FEF L£HPH36 42 46 88
31T =20 &F TR 44 44 88
31T s E S 44 44 88
35T BAR BxT RBF1 D 7% 44 45 89
35T EXEF 4o = 45 44 89
37T Hft £5F N—E=— 45 45 90
37T Lo BEF FELHOY 45 45 90
39T BEIR BF L£HPH36 48 43 91
39T a=iE A EtRER 45 46 91
39T HiEEB E1GC 45 46 91
39T AN E1GC 47 44 91
43 k% EFF IR AL 48 44 92
44T JEiE BE REFID Fx 44 49 93
44T BE ERE L£HPH36 45 48 93
46T AE BEF EtRER 46 48 94
46T 881 J\FHR 48 46 94
48 HE ERE B 48 47 95
49T HA EHF £HOH36 50 46 96
49T S EF J\FH 50 46 96
49T i+t BF FELHAOY 49 47 96
52 TR XF £HOH36 52 48 100
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